1/od?o/ dp™dy"™ [1/GeV]

Ratio to ATLAS

=
<
I

=
o
N)

T

-
o
G

-
<
i

0.5

13000 GeV pp i
= ! I ! ' ' ' ! ' | ' | ' | : I ' T )
- top : . =
~ pT (ATLAS semileptonic ttbar) 43
i 18
- m ATLAS 18

--G-- Herwig++ 2.7.1 default N
= --3-- Herwig 7.2.1 default = g!
- _Pythia 8.308 default = ;
= Rythia 8.308 vincia-default 15
i al=
B mp.
o™
B —<
o™
©
= — O
— =
_ 1
- A
- =
i s
B i N
(@]
= <
= H0
- = ©
_ — 0
- 15
B 1
- | o
H | | ! | | | ] | s
= L =
- —2
1
B —0.5
| 1 1 1 1 | 1 s L . | . | . |
0 500 1000

pt"* [GeV], [y in [0,0.7]



	Contents
	Page 1


